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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. The question paper is divided into two sections.

3. Answers may be written either in English or Hindi:
but the same medium should be used throughout the

paper.
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SECTION ?{- |

Attempt any six questions. (5 marks each)

B N 6 77T 5T T (TAF 5 HF)

1.  The equation of the Phillips curve for an economy 18

given by :

1_11_1"E=Cl.]—21,1t where HT= HH

[
Where Hl , is inflation rate and Ht is the expected

rate of inflation.

How will the slope of this curve change if 60% of
workers have indexed labour contracts? Derive the
expectations augmented Phillips curve and explain

your answer. (5)

’Qﬂiaﬂfmaw%%qﬁ?ﬁwammaﬁ'ﬂwﬁﬂmﬁm

TTCIT%:

[1.-[Tc=01-2u, v [T=11.
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2. Derive and explain the relationship between price,
¢xpected price, and output from the wage setting and

price setting relations. (3)

3. Consider the IS-LM model with government
¢Xpenditure and taxation in a closed economy. A
change in the income tax rate influences the
equilibrium outcomes from (y = 3000, r = 4%) to
(y =3500, r = 6%), where y, r denote income and
rate of interest, respectively. It is given that a unijt
increase raises the demand for real money balance
by 0.25 units. Compute the change in speculative

demand for money that results from a 1% Increase in

BT 40,
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the rate of interest. (Assume that all relationships are

linear). (5)

wﬁmﬂﬁwﬁmﬁiw%mﬁx IS-LM
Hfedl W R = mmﬁaﬁqﬁaﬁwwﬁmﬁ
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4. Ram and Sita both consume in two periods. Ram earns
$100 in the first period and $100 in the second period.
Qita earns nothing in the first period and $210 in the
second period. Both of them can borrow Of lend at
the interest rate r. The answer the following questions

and must include diagrams and equations.

(a) You observe both Ram and Sita consuming $100
‘h the first period and $100 in the second period.

What is the interest rate 4



(b) Suppose the interest rate increases. What will
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happen to Ram’s consumption in the first period?
Is Ram better off than before with the interest

rate rise?

(c) What will happen to Sita’s consumption in the first
period when the interest rate increases? Is Sita
better off than before with the interest rate

increase? (1+2+2)

TSR AT A I D R- sl wew ¥ Swi wd
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5. Suppose that the firms’ markup over marginal costs is
5%, and the wage-setting equation is W = P (I -u),

where u is the unemployment rate.

(i) What is the real wage determined by the price-

setting equation?
(ii) What is the natural rate of unemployment?

(iii) Suppose that the markup of prices over marginal
costs increases to 10%. What happens (o the
natural rate of unemployment? Explain the logic

behind your answer. (1+1+3)
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6. Use the neoclassical model of investment to explain

the impact of each of the following on the rental cost
of capital and investment :

(a) Anti-inﬂationary monetary policy raises the real

interest rate,

(b) An earthquake destroys part of the capital

(5)

stock.

B.LG.
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7. Suppose that an explicitly temporary tax credit 1s
enacted. The tax credit is at the rate of 12% and

lasts only 1 year:

(i) Differentiate between the effects of this measure
on investment in the current year, following year

and in the long run.

(ii) How would your answers in part (i) differ if the

tax credit were permanent? (3:+2)
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8. “The conduct of monetary policy cannot affect the
total number of point-years of excess unemployment”.
Discuss this statement. Explain how Fischer used the
notion of credibility of monetary policy to refute this

claim? (5)
“ﬁ&aﬁ%m@mﬁaﬁf%ﬂwﬁ%ﬁgua&ﬁaﬁ
@Waﬁuﬂmﬁﬁaﬁmm”twamaﬁ
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SECTION B

Attempt any 3 questions. (15 marks each.)

FE 3 TIT 8T Y (FRAF F e 15 o)

. (a) Suppose the Phillips curve is given by

thnf + 0.2-5u, where Hf = BHH

(i) What is the natural rate of unemployment

in this economy?

(i) For now, assume that 0=0. What are its
implications? Suppose that the government
decides to lower unemployment to 3% and
keep it there forever. What is the rate of
inflation for t=1009 Is this realistic? If so,

why?

(iii) Assume that only for the first three periods
(t=1, t=2, and t=3) people form their
expectations using 0=0. After the third

period (i.e. from t=4 onwards), people
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change the way they form their
expectations and 0 takes the value 1 and
stays there forever. Also, the government
still wants to keep unemployment at 3%.
What is the rate of inflation for t=4, 3,
and 62 What is the expected rate of
inflation for t=4, 5, and 67 Is this setup

more realistic? If so, why? (1+2.5+4)

(b) Under the rational expectations approach of

forming expectations, discuss in the short and long
run, how an anticipated monetary policy expansion
works as compared to an unanticipated monetary
expansion. Show both mathematically and

diagrammatically. (F:3)

(%) W= A foRe ww [[=]], + 0-2-5u, B

w & = [, = o1,
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2. (a) Explain using an appropriate model why
transactions demand for money increases with the
square root of income and decrease with the square

root of interest rate. (T-3)

(b) Determine the equilibrium portfolio choice of a

[ ‘diversifier’ in the portfolio balance approach.
Explain with the help of a diagram why the demand

for money must decrease progressively by smaller

amounts as the interest rate increases by constant

increments. (3.5+4)

P.T.0:



3.  Ia) Using the consumption function U(C) = In C, derive
and show how an individual’s intertemporal
consumption choices depend on the market rate
of return and the individual’s discount rate in more

than two time periods framework. (7.5)

(b) “In the Cross-sectional budget studies, we expect
to see MPC < APC.” Prove this statement using

Friedman’s Permanent income hypothesis.
(7.5)

(=) WWU(cch,awsuﬁwmgqqmﬁ
aﬁTﬁﬁW%@%wwfﬁﬁﬁ‘{aﬁﬁnﬂm
ﬁw,waﬁwwaﬁ?a%mwm&r
%a%#m%ﬁa%@;aawﬁa&mél
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4. (a) Briefly explain the neoclassical theory of
‘hvestment. What is the relationship between the
neoclassical theory of investment and the way
firms make their investment decisions in practice?

(4+3.5)

(b) Consider two alternative expansionary economic
policies. One is the introduction of an investment
subsidy; the other is a decline in the rate of income
tax. Explain with the help of 1S-LM schedules,
the impact of these alternative policies on interest
rate, consumption, investment and GDP.

(1.5)
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